
28380017/01

x 1

A B C D

21 x 1 x 21

M8x25

M6x15

1 E 8 F 84 4 4

5#

4-1

1 2 3 4 5 6

M8x80 M8 M8M8

G H I J 41 5 4

M6x20 adjust feet



1

2

4-2

A

1

2

3 D

x 1

A B C D

21 x 1 x 21

M8x25

1 E 8 F 84 4 4

1 2 3 4 5 6

M8x80 M8 M8M8 M6x155#

G H I J 41 5 4

M6x20 adjust feet



3

4

4-3

E
F

G

H

I

J

G

G

4 5

5

6

x 1

A B C D

21 x 1 x 21

M8x25

1 E 8 F 84 4 4

1 2 3 4 5 6

M8x80 M8 M8M8 M6x155#

G H I J 41 5 4

M6x20 adjust feet



4-4

A

B

A

B


